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General Instructions :
This question paper is divided into 5 (five) sections.
It has total 19 questions.

Section A — 1 Question no. 1

Section B - 2 Questions no. 2 to 3

Section C - 5 Questions no. 4to 8

Section D - 9 Questions no. 9 to 17

Section E - 2 Questions no. 18 to 19
Attempt questions as per specific instructions.

Write question no. in answer book before attempting it.

qraT= f339m:
G Jo93 el GUel: Gl |
SEGT JeA9 THT 79597 (19) I¥H1: Gl |

GUE: ‘&’ — ITISA-HATIANITH — 10 HSH:

TUE: ‘@’ — WHIHF-FRY — 10 TSH:

GUg: ‘7’ — 3IIIH-HATHH — 15 HAGHI:
TUE: ‘¥’ — (i) YISAFANITH — 25 ISH:

(ii) TFA-IEA TG T : TR — 10 TSI
TUE: ‘T’ — BGISASHR-IR=T: — 10 ISH:

QUE: ‘&’ — 1 — JEET 1 94q

QuUE: ‘@’ - 2 - ST 2T 3 Ty

QUE: ‘T’ — 5 - JITHEI 4 8 T

QUE: ‘¥’ -9 - FHEE 9 d: 17 7E-0q

QUE: ‘T’ - 2 - JeIEET 18T 19 TI<q
o  TARTRHSIFAR So1: GHIEAT: |

o IWYRAFT GG Td GATqH TG G |
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o
Hus: ‘h’
Ui eraate

Unseen Reading Comprehension

TR T 9fSea SEayeHT Hehd 3id |
frfcTRa TTerieT sl TRt f3U 71T AT o 3T H&Ra | SIS |

Read the following passage and answer the given questions in Sanskrit.

IRAGYT: 1947 TH I8 Ta-AIswaq | AR and Raw e Saiar oTeiq | aa

10 3Tl

FAHNT TRAE TehTar shelgl: e Mt | T ame WisH-aTiET-ETeed-
TRTeTTe: TEEHET: ST | HeishiT Hol-&Y forehTemy qosetar arsHT i | Jrd
Ehashrcn sTenfiehieRor = foerremsh diadan e | wRaay: fasmasfiere:
avEq | RN, faeefifaem @ aRde-erderawemm: wfd: otvaq |
eIl AT ferETsyed | ST STTSioh™ STV | 3TRIaH - Faehiisty
RN ST Genguar faqatd | sRed: WRdE ST U8 o WRAa T Sf:
wioquefd | o1cl foshreRiic WRdd, 9Rdea: fofed: woq 3fa srerdiee

TRAHIR & Tomaied | 2047 IS ATaq HRAA: frehfamT et 5ot woiq 3fa
e forem AAeeshRor Sferdieemmay AISHT: hRikAT: = UHeT: | & foaw: gami gt
R a7 Ay forehfera: sifersaf |

AT
(37)

(370

TG 3T | (hael TeEaH)

Tk 3168 T SR ST | (Sharet &1 T9)

Answer in one word. (Only two questions)

(i) TFA-aET: TR TRaaNe Rufa: higeft i ?
(i)  SANREhRH foh dreaa sTeed ?

(iii) o: fsf forenféra: wiiesafa ?

qUTSTERIA TR | (haret FEIH)

QU e | I ST | (haret &1 )

Answer in a complete sentence. (Only two questions)

(i) EEAAdHET 99 THEHARET: hl: 314 ?
(i)  WRATT-STIHETT: T She A9aq ?
(iii) YRAGERIE g - shigem IRa ?

2x1=2

2x2=4
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©)

o
ST ST Pl JUY ¥ieh Feapert foreae |
=0 S % fore e wiiep wegpe i iy
Write a suitable title for this passage in Sanskrit. Ix1=1

AT 3Sferaq 3 fercan forerd | (et weerem)
fAceTaT Sfed S ge faflaw | (Faet o we)

Choose the appropriate answer and write as directed. 3x1=3

(Only three questions)

(i) “9Rd Hasr SefehieRton = faesmmeesh doaan sTeeq 2 3
‘FIAq 3i ToRaTIEE s fory 2

INBREEIGEER (B) WRd

~

(C) Eidshiar (D) dgaan

(i) “RAIY: 1947 T8 TN AT I 3T “TA:” 31 & foh forearaag

ERE
(A) HRdIY: (B) &A=
(C) I9aq (D) &8

~

(iii) <2047 I Iraq WRAAY: ToREdET QUM Jvat waq o fomyog

form 2
(A) vy (B) YRAdS:
(C) ToFfaamm (D) WHH

~ ~

(iv) “HIHNU TEaE T shrergr: oeam: Fuffar oo o 3fa ve=

[ERRIRECA R
UNBRECICIR] (B) &
(C) "o (D) it

49
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=
Qus: ‘™
TATCHR-RTAH 10 TS
TEATHh T
Writing Skills

(F) AT TAHTE ST g8 | T8I T wieapiaend Ufderiéersr afvrd
foraa |
T 7T {18 ST TR ol | 36 AR sht |iehieh AR Yferariaen foasmarett 1
U A §Y SEUGTATE AT Ty Rl HosToT H U T Hopdl shi WERIdT | Uh
ot fafaw |

You have seen Jaipur city last month. Write a letter to your friend
who lives in Dehradun explaining its cultural and historical

]
5 9

features with the help of the clues given in the box. 5
(=N
o Toer, FHIH:, AT, TSRS, Welid, 3T STy, Hiadd, ST,

ISR, dfd, Ja¥, d@&hid:, AeqH, fORted, ofd, s e, 39,
N c c ~
AT iR, STHTH, T, JUTH:, 37 |

U4t (OR)

(@) WOITIE SENT FHd TAREN-AGANaRT:  ARSHE ST
e gfd uee fored |
3o foermer & ®ET & o yeeEid gfanfiar & e & foe o7aq
forarmer™ & g U o fafau |

Write a letter to the Principal of your school for organizing

Sloka-Recitation competition for the students of your school. 5

HaS T

[N

Yo, i, TOHEE:, @9, S, SRhae JORME, TS 79,

ST, i, Jearedr:, ARd, Faem, ARSEY, SR, gaer:,

YA, HT<H, Wad, 31 |

NCIRECRRN
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@)

Cl%[E

o
YRR HETa e forvad siftrpea deepa g=od fored |
e qedi ol weradn | frferfad fossr ot deepa # s1gese fafa |

Write a passage on the topic given below with the help of the given
facts in Sanskrit. 5

fow: — a9 T &t

WRAaY, YTHST:, 3T, HIEH:, HiTHE:, T THT:, TTHH, HIATH,
eI, Wi, 3T, Hefd, S, forvd férgd, StfvRg-aer, g, I,
L, SAGHHT:, STHT AT |

AT (OR)

A TARTATEIY FToe TSR HEHc SIS e |
frefaifad are & & foreel uter aeril o1 H%ehd | TaTE ShiTg |

Translate any five of the following sentences into Sanskrit. 5x1=5

(i) o diR aeare |
The tortoise walks slowly.

(i) &l A ot 9T | AT =i |

All people should live with love.
(i) FHITHRAT R & |

They are dancing on the song.

(v) U9 %haq o fuar =t oo foman |

Ram wrote a letter to his father with a pen.

(v) Ol ST U8 I1e R foam |

All students have learnt the lesson.

(vi) ©HT o @t 7 3T & <=1 o6 L& A |
Soldiers protected the country from enemies on the border.
(vil) I AR TR F W 2 |

The cuckoo is singing in a sweet voice.
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&
:

«ug: ‘T’
FTITHA-SATHTUTH 15 3TShT:

HIAT S SITh T
Applied Grammar
HAARGTTRIY @S hauai |-t @feresd o sheal fofed | (et Teeram)

fraferfaa et & waiferd uat 1 afryr stuar afta-fomse wxe fafaw |
EERKIERLE)

Write the Sandhi form or disjoin the Sandhi of the underlined words in

the following sentences. (Only three questions) 3x1=3
(&) st forferer formar sifeq form 2

(@) 0-0 T GU: + TR aTHTRguRY S |

@ s forfemrd + sfEa |

() e ZoTRf aere |

QT fehauaTT Fehfaseat g forvsa a1 3feay 3w fora forad | (et Tvag)
T@ifoRd TaT % TR ST e T STIgaRT 72T forar ot 3ford I et forfia |
(I i I )

Select the appropriate answer by joining or disjoining the base element

and the suffix element in the underlined words. (Only three questions) 3xI1=3

(i)  ITECTIT JAERT SATH |
(A) 39 + ¥

(B) Y + &
(C) &Y + qHA

NN N

(D) Y + Fcdl

7 P.T.O.



HoS[IRIT Y& Hfed: SFegde: e qRicar fofad | (haet Team)
wosNT H faq 7w wqferd ot el | T e st ot ffla | (sharet ot )

(i1)

(iii)

%
TR ST AT o |
(A) HY + W q
(B) AT + 21q
(C) =Y + T
(D) WY + TIq
T f ST 8 89 .. |
(&) 3+ + 7
(B) 3+ W + 7
(C) AT + I
(D) & + = + A

N N

(iv) dfcsrq sTefm giereft ?

(A) 7T + v
(B) Ir@hHT + g
(C) B + FAaq
(D) & + IR

Write the sentence after filling in the blanks with the appropriate

indeclinable words given in the box. (Only three questions)

(%)
)
M
(¥

e e gafssiar At |
SECIICT g TR |
 forshHT TS TR ST |
= forear: ae=sd |
ST

[=N

afe, TeHeT, T, I |

49
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&
:

B TaRTeay Yot fordfort SIS ARy eI 0 | (At Tem—)
B H T3¢ 1T 31t H Iferq oo sh1 ST ot e T qu shifTT | (et i 1)

Fill in the blanks after applying the appropriate case-endings in the

words given in the brackets. (Only three questions)

(%)

@)

(M

(*)

st ek et siterE | (feem)

aE e e S | (TSE)
WS i AT 3ot 7 Yehfedd T | ()
TfiTer sy st | ()

3Ix1=3

FY ARGy TErgfehauari e foure @are o ferea forerd | (shered Jeerm)

o 0

o

BRI\

[C|

d ST H ifehd Wal o wHferd fore 3tera wHme IRt feTfa |

(A T T )

Write the vigraha (the descriptive sentence) or the compound of the

underlined words of the following sentences. (Only three questions) 3x1=3

(i)

e FrTeRaT SEfersafa |

(A)

(B)

(&)

(D)

ier feam
fom wfa
fo fed i

foet wfer wha

49
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(i1)

(iii)

(iv)

=
:

AT AETHHTT: FISSTITHTIATHTITT: |

(A)  HdTd TR
(B) o[d&T TR
(C) e YRS

(D) RIS 4dH

TETAT: ST |
(A)  SoH E g
(B) TEMH

(C) g

(D) TS

FSHEHTA Tl HEHTEAT Teicr2iofiel JTET |

(A) HEIS HIAT
(B) HHMI ATAT
(C) HETq |

(D) TET: HIAT:

49
#
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&
Qus: ‘g’
(i) ufgaraaegTa
yfed-raata=

Reading Comprehension

FTeIfTRad Tetel 9fScaT TRTaTia JeH S8k i |
ffeTRad TTerieT il Tgeht 36 TR TG TRHT o SaX §eehd H &IfeIT |

Read the following passage and answer the following questions in
Sanskrit.

VATGRTT TF W f~d MISHI ST | SToraeet fg #= forfa gamraesrm: | stfa
HATHITHHIY ST TEURRT: | T[EURRTE W ARGAATETAE Y, TSl S |
forRTSoT T | foRaT f& TUUeER: | TSEEmH s i SHT AT | SUTCT Ty o 7
Aquafed | ST Beaf-a fedrTasTaTtE 76 |

AT

(37)

(30

TehUe ST | (hdel J3gaH)

T 3768 | I ST | (Shared a1 93)

Answer in one word. (Only two questions)

() o forar: yafa 2
(ii) 35!33“\7!0“: L&l forerfed 2

(i) S S TSTITHTT=DI ?

[ .
ENEIEE RS | (chcT TRAGIH)

qUT TeRT H IR SIISIT | (hared &1 Te)

Answer in a complete sentence. (Only two questions)
(i)  TE9QE: % & ?
(i) o 3Tt @ wafa ?

(ili) ST % TR Tl ?

25 HEH:

2x—=1

2x1=2

49
4
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10.

®

[=]z; [=]
=
TACRTIHTO] 3T | (et TR52H)

fASeTTTaR S ST | (sharet a1 o)
Answer as directed. (Only two questions) 2x1=2

i) < 3fd squee foramag fog 2
(i)  TTaner 3 fomyorree forerad foRy 2
(i) 3T’ 3f Iaw foh foreiae TTeriRr SR ?

srenforRad uet ufeear qaremiar ST e 3 |
freferRad wer st ugeRt 30 W e et o STt dsha | i |

Read the following poetry and answer the questions based on them in
Sanskrit. 5

(37)

(30

quTHfrE AT RISy Teafand |

EERENRIEEIRNIEERUIRIErECiuvRete il

Tehde I | (haldd Te5IH)

T 3768 | I AT | (Shared 31 997)

Answer in one word. (Only two questions) 2x==1
(i) e foram wmmET ST ?

(i) IR v mefd: &: o1f&q ?

(i) hicd: Formef o Tefiuy eFT=aq ?

QUi 3T | (et TR5aH)

Ut e | I ST | (sharet 1 )

Answer in a complete sentence. (Only two questions) 2x1=2
(i)  IcaeT Aih: Shigeft AT ?

(i) &M TeateruTra fohH SO ?

(iti)  ehtcar wefy: fepwref fomiva: 2

49
4
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11.

®

[=]#: [=]
=
TACRTIETO] 3T | (Fharet TRg2H)

fASeTTTaR S ST | (sharet a1 o)
Answer as directed. (Only two questions) 2x1=2

(i)  “3TURI 3id oRaATIae shqus fohe ?
(i)  oTeTI: 3id U foh TRRITEwA T ?
(ili) RPN 3f v foh forermoewsr s ?

STITARG ATCAT TfSea ARTETRAT, SeHT H&hd- 34 |
ffeTRad TeaieT i Tgeht 38 T TG TT o I 6hd H ST |

Read the following part of a drama and answer the questions based on

them in Sanskrit. 5
KER TEHETA = | TIHTTSH LRI ST |

ECCh e o ?

KEE T Tl | gfSaHa IR Teshosd | fh 7 e ? Yeieh Srqee:

(%)

A< afved! g fires e | afe = fayeredad=sd |
T o1 foh SRSHIsTwYa: Tigd: wiefd ?

TSI ST | (hadt TTEIH)
U 3168 T TR SIST | (Shaed &1 99)

Answer in one word. (Only two questions) 2xé =
(1) o e Uit wef ?
(i) 37T SIgesia ?

(iii) ‘ITHATG = 3fd &; F&fT ?

49
4
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() qUTATERIA I | (Faet FEIH)
Ut e | I ST | (sharet & )

Answer in a complete sentence. (Only two questions) 2x1=2
(i)  wea: Tereh foh g=af ?
(i)  Tferaw: shigem: |f-d ?
(i) 37ed ggan oa: foh arafa ?
®  FeRITTERd 3 | (e TEEE)
fASeTTaR ST ST | (At 3t 59 )
Answer as directed. (Only two questions) 2x1=2
(1) @ 3i Tew foh wteeH SR ?
(i) oo gfa foramue shqud form 2
(i) “3rEAT 3f veed foh forctmuess wghH ?

HARGTTRIY TETSTRAuaT ST TH A 2 | (heet TE=EIH)
freferitaa arert o Tgiferd et o SR 9t g fmtor Hifsr | (et = ae )

Form questions on the basis of underlined words in the following
sentences. (Only four questions) 4x1=4

(F)  goue: Rraetet: T 7 forid |

@) =ETdtS: qiY: STQTETT: Sidgas: Tayery STeHTH |
() FIETI A A ST |

() 3uiSiat ford I fomT 9at T Wald |

(F) AU I SHenTe: dibfen AT |

ANTARGTT T 31 foraa |
famatafad v 1 3= fafag |

Write the prose order of the following verse. 3
T (G SIS FHAS M |
S RIcEE A T fIgT=eh: THTeR. ||

14



%
14.  IfIRade vetiehe vraref despayrsa foawed |
frfcTRa vetieh o1 wiTame Teha TS § fofiay |
Write the explanation of the following verse in Sanskrit.
FeA~Aolg HHITT [STfiferseed FH: |
Te i TSt 7 s forwrd ||

HAUAT (OR)

HEIET 3id IT6HT U TSI HEha v fored |
TG 13 T A1 T&d H Heahd # fafaw |
Write briefly the summary of lesson ‘Wi’ﬁ’?ﬂ[’ in Sanskrit.

Qus: ‘w’
(i) HERA-ATRCAAETHET AT THe:
Heehd ATfecd iR 3faeme s wrmr=r afer

10 3SHT:

General Introduction of Sanskrit-Literature and History

15.  STfCIRETSRHTT ST forehet: forea forad | (shaet Teerm)
freferRaa st o I fow e foeredt & & T | (e FF o)

Choose the answer from the given options of the following

questions. (Only three questions)

(i)  ITefAReady weThreAy Hiicieree e foh ?

(A) FHATERIT] (B) fortrarsrm

(C) TdvEYy (D) Fg=iaq
(i)  camfespfa” gia am &: afeg: ?

(A) o (B)  wRfa:

(C) areHif: (D) E:

49 15
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16.

=
:

(iii)  THREHsSKD 3fd HeTeRTeIe T &: ?

(A) ¥ (B) s

(C) &u=; (D)  3FTFE:
(iv) caUEd e A1 fohy 2

(A)  TosRHishaaaay (B)  TSIafiroft

(C) Hifcihrea (D)  JEchHATHSS

D c

STNTARGATEAHTH, IO fershed ;o fored | (et Jerem)
freferfiaa Wl & 3T fou g forshedi ®§ € T | (Fae i &)

Choose the answer from the given options of the following

questions. (Only three questions) 3x1=3
(i)  SIHHRENGH’ i TerehTeae Ul &: ?

(A) g B) &
(C) dmomHE: (D) &HEE:

(i) G FHITE T fohd] ?

49
4

(A)  HATHHATSIA B) facrerrssi
(C) drHaer (D) el
(i)  TAIFL ‘s'i%rwqc\ehloqw et : ?
A) T B) Frfosave:
(C) 3F=Ive: (D) I
(iv)  SAfeeheeaTd; foh FHeay S=d ?
(A)  IegIRT (B)  HumadTEt
(C) focrrmssRY (D) RETSosEy
16



17.

&
:

Sefoiehed v T e 3 fercdt forerd | (dharet Teerqea)
T T forshedt & & 3 3T IR FTRaT | (haret 9 79)

Choose appropriate answer from the given options. (Only four questions)

(1)

(i1)

(iii)

(iv)

v)

FefARgaTERY foh A1eeh TS TR ?
(A) HEHHTIN: (B)
(C) dfieery (D)

~

HETETEH i TTeehe et 6: ?

(A) Tsh:

<

(C) AIIIIV:

TETRIIUR e ATeehed] 1 fohey ?
(A) iR

~

(C) Jvflgsry

~

qSA: hET AIEHET 1ah: IR ?
(A) HATT&EHE

(C) yfaHaHEeRS

AYd: e A T ?

(A) STHINGH

~

(C) TATEl

49
4
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(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

ATATIRTT

~

SIS B IS Ceis

4x1=4

P.T.O.



18.

19.

e
LC LUCHIC
TN SATRRUNET: 10 g
Beg AN AR U=
Metres and Figures of Speech

(37)  HAATARITTTAH I FAEd | (hared Je o)

(310

(37)

et g9t o S €T | (@Faet i a9)
Answer the following questions. (Only three questions) 3x1=3

(i) o HieH-TergT i @l 2

(i)  <dereer T=f8 giderot i aur: waf< ?

(1ii) SUFTATSCH: JaTEWH foT@d |

(iv) TFAHIIYAH 3f T BaH: AEUHI ?

HTARIATY ARSI S Ba: TN 8T T forerd | (At Tegam)
frfcTiad weien Uiral § S TeaTeht A foiRaT | (haet af I9)

Write the name of the metre in the following lines of the
verses. (Only two questions) 2x1=2

i) FrfasmimenTSTTe |

(i) T H SISy Y SO |

(ili) AT st fedr |
ATARGTTLATH I T | (haret Te )

frfeiaa geat & ST e | (Faret i a9 )
Answer the following questions. (Only three questions) 3x1=3

(1) FIR-ITASHRET A&V (o1& |

(i)  IFIIE-FAGHIE A& forerd |
(iii) STHTASHIE ISR TohH fored |
(iv) oeT: varsmraifirem > sfa e STeTgehieT atafury ?

49
4
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&
(M) Srefaedry afeaay TS HIE W fofed | (et T eam)
frforfiaa et o weh stefsm st am faflay | (et 2 we)
Write the figure of speech in the following lines. (Only two

questions) 2x1=2
()  Ife Trafa ga Fave fasfifienr |
(i) ol e SeamT § Fear gEErsuny daeed |

o

(iii) HETTHHT TRHHHMINS Gl $hraed o HAHoh € haciihd g
A |

49
4
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